MA 223 Even Answers

Section 1.2
48)  2x(3x* +1)*(18x* +1)

5a) x=4 1
3

2(1-3x%)

70) 3
@+x%)

Section 1.4
14) m= L
3

30) y:—%x+g

X=2

44) m=—§ andb=3

Section 2.1

12) 9(-2)=29(0)=1
9(2)=0; g(4)=+2
(-0, ) U (L)
[L3)U(3,)
Domain: [1,), [0,:0)

24)
34)
42)

2 495 6 8 it}

70) (a) V =—12,000n +120,000
(b)

—

124000 H
109000
88000
69000

49000 |

| |

20000 |

L 1 4 5 & 8 10

(c) $48,000

(d) $12,000 per year

Section 2.2
26) (a) fo

34) h(2)

Section 2.3
18)

20)
24)

~118

28)
60)

Section 2.4

(b) go
28) (a) fog=2vx*+1 +3
(b) go f =4x+12/x +10

$128,
in 5l
2

A(X) = 40x — X2,

g =3x"+20x+34

f =3x%+2x+4

=2

a) C(x)=14x+100,000

b) R(x)=20x

¢) P(x)=6x-100,000

d) loss of $28000, profit of $20000

mg
000

yr

[0,40]

4) Iirrl1 does not exist.
6) lim f (x)=3

8) Iirrg does not exist.
14) Iin; does not exist.

56) Iin; does not exist.
X—

=0 2x* 4+ + X2+ X +1

. 4=
62) | =
) SULP NI
64) lim f (x) does not exist (o);
XIirp f (x) does not exist (—o)
66) lim f (x)=1; lim f(x)=1
68) lim f(x)=1; lim f(x) does not exist()
2
76) lim 2X 3+ g
xom Xt —x
4 2
78) lim— X =3+,
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Section 2.5
4) lim f(x)=3; XILT f(x)=3;limf(x)=3

x—1" x—1

6) lim f(x)=2; Iir{r)l f (x) = DNE(o0); Ixirrgf(x) DNE

x—0"
40) )!Lr!)’l f(x)=3; )!Lr(l)‘l f(x)=1
42) xILrP f(x)=1; xILr’P f(x)=1
58) (—oo,—3)u(—3,1)u(1,oo)
60) (—o0,—-1)U(—1,)
64) (—o0,—2)U(—2,0)
70) discontinuousat x=0and x=2
Section 2.6
12) m=—4
22) m:—%; y:—%x+3

26) a) —ﬁ

1 3
b) y=—=x-=
) Y 57

c) Graph

28) a) 3; 25 21

b) 2
30) a) 48 ft/sec.; 56 ft/sec.; 62.4 ft./sec.
b) 64 ft/sec.
c) —32 ft/sec.; falling
d) 8 sec.

34) @) —20x+300
b) $100/surfboard
c) $200/surfboard




